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1. If the orthocenter,,circumcenter and
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2. ABC is an isosceles
triangle such that AB=AC
and 2B = 35°. AD is the
median to the base BC.
Then 2ZBAD =7
ABC U HHG[aaTg 8Tt
¥ e AB=AC X 4B =
35° §| AD, 3ITYR BC &
I TFH AMegdr g ar




3¢ let ABC be a triangle in which AB = AC. Let L be thof(points X)inside or

on the triangle such that Which of the following statements are
correct?

_/‘l’f is a straight line passing through A and incentre of AABC is on L.
_/Zj/t is a straight line passing through A and orthocentre of AABC is a point on L.
v3‘)’L is a straight line passing through A and centroid of AABC is a point of L.
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4-In an isosceles triangle ABC,
AB = AC and AD is
perpendicular to BC. If AD =
12 cm and the perimeter of
AABCis 36 cm. Then BC =?
Fm'dﬁ?rg fas1sT ABCH, AB =
Ac 3°AD,”BC & wwad R
Ife AD = 12 cm 3R AABC
& IRATT 36 cm &, ar BC
aarg (A &) AT ;Y
a)5 b) 12
A0 d) 13
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5. In a triangle ABC,AB = AC.
D is any point on BC. Find
the length of BD if AB =
17 cm,AD = 15cm,CD =

4 cm.
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C 15 cm,3ﬁT CD=4cm %l
16 b) 12
c) 18 d) Can’t say




6 In LZABC,AB = AC and D is
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a point on BC. If BD =
5cm, AB = 12cm  and
AD = 8cm , then the
lengthof CD is:

£ABC #, AB = AC 3R
BC T & fag B
BD = 5 ¥éHER, 4
12 &I 3k 4
8 ¥dH e &, @ ¢D
TS F4T 87

a)14.8 cm b)16.2 cm

16 cm d) 14 cm
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P,)Ez=— %EZ— 7. In triangle ABC the length

& of the sides AB,BC, and
|V|U—ﬁ({=— 32_\1—140[)%1-(40& AC are 12, 18 and 20 units,
2 220 =Uo0a 2

respectively. D is a point on
1€ AC such that AB = DB.
The value of the ratio
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Suy EEC 3ﬁQBC " gn&ﬁ AB,
= A— BC AC FaTs
P A ® QO'?JE"’Q‘L Cwmr 12, 18 3k 20
220 90— T 7 g@$ 8| Wg D @M Ac

—> T W YHR ¢ & AB =
DB & AD:DC T HT
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7:1:9 b) 9:11
c)7:8 d) 8:7
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8. AD is perpendicular to the

internal bisector of ZABC of
AABC. DE is drawn through D
and parallel to BC to meet AC at
E. If the length of AC is 12 cm,
then the length of AE (in cm.)

AD TS AABC & #IoT
£ABC & FIUT GHGANATSH T
§eIT &1F9 §| DE ﬁ?%o qsH
YR 1T ST § 19 I8 BC
F AR § AR Ac 1 &g E
o fAerdl 81 3R ST AC H
dFE 12 cm © ?-ﬂ AE #Y
aFE1S (cm /) 9aT F]

a)3 b) 8
c)8 )6
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q. In AABC, M is the midpoint of the
A side AB. N is a point in the interior
of AABC such that CN is the
bisector of 2 and CN L NB.
What is the length (in cm) of MN,
if BC =10 cm and AC = 15 cm'-’
AABC ®, ¥ST AB &1 HE
M B N ua; T g
AABC & 3cT 39 Y& g
10 & CN 2c &1 gASRNEF &
3k cNv LNB ¥ IR BC=
10 cm 3 AC = 15 cm, @Y MN
$ J9S (cm H) Frae &2

a)2 b)
c)4 yfz 5
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[o. If in APQR, P =
120°,PS 1 QR at S and
PQ + QS = SR, then the
measure of 2Q is:

APQR #, +P =120°,S W
PS L QR 3R PQ +
QS =SRE @ Q0 #
AT F97 g19?

a) 20° b) 50°
A4o° d) 30°
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//]- D and E are two points on the
sides AC and BC respectively of

AABC such that DE =
{ZOV\[,A-%C»g 5 18cm,CE = 5cm and
£(DEC =90°. If tanZABC =
Xom/DCE= 1B 13_ 3.6, then AC: CD =
%, ﬁraﬁr ABC &I aam&ﬁ AC 3R
5 BCW fog D3R E3W TFR &
5

& DE = 18 cm,CE =
5cm 3R 2DEC=90° g
IR tanzABC=13.6 & a

_p‘c’ AC: CD =
szg_z& /_B.C:Z_,C_E b) 2 CE: BC
QE QCG C)Z_EC:CE d) CE: 2 BC
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Lom/ACh = 6x Ton LDBE
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/2. D is a point on side BC of a AABC
such that AD L BC. E is a point on
@) AD for which AE:ED= 5:1. If
2BAD = 30° and tan £ACB =
6 tan «DBE, then LACB is :
ﬁaﬁrAABcaﬁraachqTD
ﬁg T YR & B AD L
BC 8] E, AD W TH fig 3@
SR & B AE:ED=5: 18] 3P
¢BAD = 30° 3X tan £ACB =
6 tan .DBE § dY 2ACB =?
a) 30 b) 45

c) 90 /f 60

r,So thigc,z [ ACR=€
[0 - A%- 30
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